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HAVE CONTROL — HAVE PATIENCE — HAVE CONFIDENCE = 100% SUCCESS
MENTAL ABILITY

There are six children playing football namely
A,B, C,D, E and F. A and E are brothers. F is
the sister of E. C is the only son of A’s uncle. B
and D are the daughters of the brother of C’s
father. How is C related to F ?

(1) Cousin (2) Brother
(3) Son (4) Uncle
® (i)

What is the number of dots on the face opposite
to 2 dots :

(1) 1
Going 50 m to the South of her house, Radhika
turns left and goes another 20 m. Then, turning to

2 3 (3) 4 4 6

the North, she goes 30 m and then starts walking to

her house. In which direction is she walking now?

(1) North-West (2) North
(3) South-East (4) East

Count the number of triangles in the figure given

below?
(1) 14 2) 15
3) 16 (4) None of these

1.

B: SFed Bedlcl Weld § (99 I A, B, C, D, E
TMFR ATMEWERIF, ERIa@TR1C, A
=TT 1 G A O 81 B @1 D, C o fUdm o 18
I T 81 C %1 F o 1o Heieg g

(1) == s

(CINE]

(2) wE

(4) ==t

(i) )

2 fereg o farerfier wereh o formg il oht v 2t

(1 1 2 3 (3) 4 4 6

T AT B H 50 m 0T skt AR <Ieielt & I8
ST FHART 20 m SR T 8| T I8 I bl AR
FHHT 30 m AT & TAT I8 HY T hT S AT
TR AT 8| 3T I8 Tore o 7 =1t Tt 22

(1) SR-Afam (2) IW

(3) aferoraE 4)

e o2 fomr  Brgit <t s gt

(1) 14 () 15

(3) 16 (4) @ RIS T
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In the left hand column problem figures are given
and in the right hand column the answer figures.
Pick up from the answer figures, one which will
continue the series to the problem figures.
Problem figure

e mE OO0 OO0 e =

0 AR Alm AlA EA O
Answer figure

m AR Om®R 0OMm® O

B OA OlA Ola [
(D @ @ 4

Manish was born on 3rd March 1980. Sanjiv
was born 4 days before Manish. The Republic
Day of that year fell on Saturday. Which day

was Sanjiv’s birthday:

(1) Wednesday (2) Friday

(3) Thursday (4) Tuesday

Raji is 5 ranks ahead of Raj in a class of 46
students.If Raj's rank is twelth from the last,

what is Raji's rank from the start?

(1) 29 ()31 (3) 28 (4 30

Choose the alternative figure in which the

question figure (X) is embedded.

had

rff 3R & TorT § y foet fear mar @ qer qrft
I F T | S o feam mam I s i @
U fol 1 == T & S e s i ooft @
ST T Tl
Problem figure
lo EE O|0 O|0 e/ =

lD Al Al AlA EA O
Answer figure

m AR OmR [Om O

B OlA O/A OlA O
o e 6 @

HAIY &1 SIH 3 /TS 1980 I g1 HSia A1 S

oI © 4 fo veel g3 59 o Tora- fea wriem

=1 91| forer fom Eisiter s s gatr?

(1) TR (2) IFFAR
() &R (4) WIAER

46 fornfeia st sher § T, T 9 5 T 98 R
Ife 3q ¥ TS 129 T W g, af I o TS
I T I ERT?

1) 29 () 31 (3) 28 (4 30
ey oot § & 39 T o1 = hifs o oy

ot (X)) wenfua g
X

(X)
2 ___
(1) @) ><
L
/7%
3) i @)

(X)
N
(1) @ ><
i PRS-
/ﬂ
3) 1 @

The reflex angle between the hands of a clock
at10:251s:

1° 1°
1) 162~ 2) 187=
(1) 1625 (2) 1875
1° 1°
3) 192— 4) 197—
(3) 1925 ) 1975

10 STt 25 e @ U a9t i ggal % "er
Eﬁﬂﬁhﬁw@"ﬂ:

1° 1°
1) 162~ 2) 187=
(1) 1625 (2) 1875
1° 1°
3) 192— 4) 197-
(3) 1925 ) 1975
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11.

12.

If the same functions are applied to reach the
results in each of the three sets of numbers
given below, then which number will replace
the question mark in the third set of numbers?

() 24 (2) 30  (3) 36 (4) 40

There is some relationship between the two
figure on the left of the sign (: :). The same
relationship exists between the two figure on the
right of the sign, of which one is missing. Find

the missing one from the given 4 alternatives.

Pointing to a lady, man said. “The son of her
only brother is the brother of my wife.” How is
the lady related to the man ?

(1) Mother’s sister
(2) Grandmother
(3) Sister of father-in-law

(4) None of these

10.

11.

12.

gfe fi9r fot U dEe F AT WS § A TAF A
AR T Tge o [T §0H o AT fohg
ST 8, qF e U s dean v o % v
TS B 2

() 24 (2) 30 (3) 36 (4 40

g (: 2) % arft AR & foml & Aed %o Hely 2
IEEAE :)%wﬁra%ﬁ%mﬁaﬁw
gefy 8l foir w1 = fosedt 4 @ foqw o

e nfear i 3T 21a R gU, U STTeHT FHEa @
3k THATA T3 AT [, W T H I 2
AT T STTEHY o |1 T TFTE B

(1) @i e
(2) @

(3) gL A
(4) T H IS T

[ ]
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13.  Read the following information carefully and 13. = St &8 e q‘z:fiﬁ e e fo T w
answer the question given below it : T I A
(a) There are five friends ORIERCER
(b) They are standing in a row facing South. (b) o 3TeaoT ht AR g ek Ufh W TS 2
(c) Jayesh is to the immediate right of Alok. (¢) AT, HATAIE o 31 T 2
(d) Pramod is between Bhagat and Subodh. (d) g, WW@H% eg Bl
(e) Subodh is between Jayesh and Pramod. (e) ’{lﬁﬁﬂ, ST qAT THIE o HET 2l
Who is at the extreme left end : R fo W 82
(1) Alok (2) Bhagat (1) 3T (2) W
(3) Subodh (4) Data inadequate (3) gag (4) ITHS AW

14. A cuboid of dimensions (12cm x 8cm X 2 cm) is 14. TH g1y et oA (12em x 8cm x 2 cm)
painted black on both the surfaces of dimensions 2, 7% & gasl (8cm x 2 cm) F FHIA TT 4,
(8cm x 2 cm), green on the surfaces of dimensions Tdal (12ecm x 8cm) F B T ¥ qUT Haal
(12cm x 8cm) and red on the surfaces of (12cm % 2 cm) &1 &t TT & U= T fe=m Sar
dimensions (12cm % 2 cm). Now the block is Bl 379 sl I Icds 2cm qST arer fafi=
divided into various smaller cubes of side 2cm DI T41 | foeehs L R Srar 1 9w gY B
each. The smaller cubes so obtained are separated. FT Rl ST H {7 STar € 86 U foRa =9
How many cubes will have atleast three surfaces UTH B0 SRl & ¥ F9 o9 gag Tff gﬁ
coloured? (coloured) a2
(1) 16 2) 12 3) 10 4 8 (1) 16 2) 12 3) 10 4) 8

15. A man leaves for his office from the house. He 15. U Ak AU X H HETA (office) EANIATIC)
walks towards East. After moving a distance of 30 AT B TT q'_\af T IR FeAdT 81 30 m T ajr aq
m, he turns south and walks 20 m. Then he walks T o T I8 ST hT 3T Hedm g q97 20m
45 m towards the West and further 10 m towards I g1 TR a8 ufsm il X 45m =orar & a9
the North. He then turns towards East and waks 15 T35 31T I Sl 3R 10m =T 21 a8 T tlﬁ £
m. What is the straight distance (in metres) AR Hedr 2 YT 15m FAdT gl Iqh! IR T
between his initial and final positions? sifeny feerferat o mey wieft aﬁ (Hex o) TR ?
(1 o ) 5 (1 o 2) 5
(3) 10 (4) None of these (3) 10 (4) T T HIE &

16. In a code language, if ‘CIRCLE’ is coded as | 16. U @iehicish WIST ‘CIRCLE’ T ®ehd ‘XRIXOV’
“XRIXOV”, then how would you code ‘SQUARE"? &1, dl ‘SQUARE’ %1 Hehd €TTI?
(1) HIFZIV (2) HIFZVI (1) HIFZIV (2) HIFZVI
(3) HIFZLX (4) HZIFJV (3) HIFZLX (4) HZIFIV

4/31 ° °
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17. In the given question, two statements followed 17. T g 4 ¥ ™ @ FUAl F YR W IR
by four conclusions numbered I, II, IIT and IV. TSRSl 1, 10, TI1 T IV 3T STE0T AT 8| STl
You have to take the given two statements to be & T QAT e T ®Y ¥ 9T 7| IS grHT=a:
true even if they seem to be at variance from qAT SRl ST o 91 38 f=dr ﬁ@ﬂ'sc dt %, ar
commonly known facts. Read the conclusions & ™ @ FuAl F smar W e @ felg
and then decide which of the conclusions Fifsg
logically follows from the two given statements. YA :
Statements : 1. @) flowers, fruits
I. All flowers are fruits. II. % fruits, roots K
II. Some fruits are roots faeny
Conclusions : L. %D roots, fruits H
I. Some roots are fruits. II. %9 fruits, flowers R
II. Some fruits are not flowers. 1. $s fruits, roots ERIRS
III. Some fruits are not roots. IV. 3% roots, fruits e
IV. Some roots are not fruits.
(1) Only I follows (1) “hdet frsns [ 9T ®
(2) Only I1, I1I and IV follow (2) ehaet ST 11, 111 a7 [V 9Et &
(3) Only III and IV follow (3) heret feens 111 a2 IV &€l ®
(4) All follow (4) @t frens Tt
18. If P means X, Q means —, R means +, S means 18. afe p = =19 x, Q T g -, RT3 +, S T
+ then find the value SP4Q3 S8R 2? of + 8T 5P4Q3 S8R 2FHTHNENT?
(1) 18 2) 16 (3) 23 4) 21 (1) 18 2) 16 (3) 23 4) 21
19. Find the time between 3 and 4 O’ clock when 19. 3 QAT 4 1 o AT AT AT BN 5ol Teh oSt hl
the angle between the hands of a watch is one- aﬁ%maﬁm waﬁwao‘r@ﬁ%ﬁ@r?
third of a right angle.
(1) 10% min past 3 (1) 3aw10%ﬁq=|z
9 . 9
() 10 min past 3 (2) 3= 1047 e
9 . 9
(3) 1153 min past 3 (3) 3aw1lﬁﬁ=|z
10 . 10
4 ZOH min past 3 4) 39 20H&H—£
20. Pointing to a photograph, a woman says, “This 20. HIRWUTE Ht AR 3T Fd gY, Th Tfear Fedt 8

man’s son’s sister is my mother”. How is the

woman related to the man in the photograph :
(1) Daughter (2) Mother

(3) Granddaughter  (4) Mother-in-law

“gq FATHT o T Rl Sl 7 AT 21 wiws |

SATCHT hT AT o GTY -G G4 BATT:
(1) o (2) =t
(3) drdt (4) @™
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21.

22.

23.

24.
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Which of the following dice is identical to the
unfolded figure as shown here ?

|R'Pr
M Eﬁ;ﬁ@ iﬁﬁ“% gﬁb@@ iﬁal

South. Then
turning to his right he walks 30 m. Then

A man walks 30 m towards
turning to his left he walks 20 m. Again turning
to his left he walks 30 m. How far is he from

his starting position:

(1) 30m (2) 20m
(3) 80m (4) None of these
How many triangles are there in the following
figure?
(1) 34 (2) 36 (3) 38 (4) 44
What is missing in the last grid ?
Oo000 08000 | |0e0oo
QOO0 Ce0O0 L i1l
ol 1 lole o] lelele Qo000
o000 ol lelele Qo000
Oe000 @000 (00000
slaielel | L Jelelele
sielel [ ) | Jelelelel
00800 | |eCe0D ?
D000 L 1 1 lele
1 _lelels! olel lole}
OO
S
4T Tt
3) | O [ *2* %

21.

22.

23.

24.

BRI IR PRC K REE R Lot
27

| R

&) Eﬁ;ﬁ% iﬁﬁrﬂ gﬁb&@ iﬁai

T ATeHt 30 Hiet feaor it ST =rerar & a9
I IR FHARL 30 HE <A 81 I 98 o A
SHHT 20 HIZ Tl 8] YA A9 SR gH 30
e =t 1 Sl st Rerfa & foraft gl
TR

cC|ltn|H|T

(1) 30m 2) 20m

(3) 80m (4) 399 9 RIS T
et ot 8 foery et 2

(1) 34 (236 (3) 38 (4 44

= It e 0 u foeg o T W) faeent |
i fehey a2t g

O0000| |Oe00d| | 08000
OO000| |Oe000| | eeeed
DOeeC alale] alalel 18
O@000| |0e000| |00000
O@000| |Oe000| |00000
Oo00e| |e000o0
alelel 1 ] eCO00
O0e00| |eCeQd ?
08000 | |eeeCO
L1 lelele] alel lale!

Aoaa
g o[
8003
(3) OM =" st %

[ ]
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25. Today is Friday. On the last monday the date 25. AN AR 2| fUser dmar i 29 @R 1975
was 29th December, 1975. The date today is : ofT| T TS ARG BT -
(1) 28 December, 1975 (1) 28 December, 1975
(2) 3rd January, 1976 (2) 3rd January, 1976
(3) 2nd January, 1976 (3) 2nd January, 1976
(4) 2nd January, 1975 (4) 2nd January, 1975
26.  Shyam ranked 12" from the top and 28" from the 26. YA T H UTE B o7l Seel § W H 12 9
bottom among those children who passed the TIE W ? 99T 919 ¥ 28 F TH W 3| A3 d=d
examination. Eight children failed in the examination wier o %o gY SeIfeR ute sed qler | Iuferd
while five children did not appear in the examination. EE| BU| 39 hall RETER DY
How many children were there in the class ?
(1) 50 2) 51 3) 52 (4) 53 (1) 50 2) 51 (3) 52 (4) 53
27. In the given question below, you are given a 27. = & W™ ug b, o (X) @ ey R ™ er
figure (X) followed by four figures (1), (2), (3) et (1), (2), (3) TT (4) | € Tordll T o= T2
and (4) such that (X) is embedded in one of e (X) fea = et uw o o onfyis &9 @
them. Choose the correct alternative. et 21 97 foet st g
(X) (X)
(1) (2) (3) (4) (1) (2) (3) (4)
28. How many times between 2 PM and 8 PM will 28.  HE I gF agaf (sTue 13|§ qer fime i Hﬁ) 2
both the hands of clock (hour hand and minute qdT 8 aﬁ%mmﬁwwi@ﬁwﬁqﬂﬁ
hand) be in straight line but opposite in direction : foam & gl 22
(1 o (2) 5 (3) 4 “4) 7 (1 o 2) 5 (3) 4 4 7
29. Find the missing number is the place of 29. ¥ famg 2 % TU W ! dE anf?
question mark ? 72 2a | 6
72124 6
9% |16 | 12
% |16 | 12 1081 2 | 18
108 ? | 18
(1 12 2) 16 (3) 18 4) 20 (1) 12 2) 16 (3) 18 4) 20

1/31
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30. In the given question, two statements followed 30. =T uw O ¥ T @ FEl & AR W AR

8/31

by four conclusions numbered I, II, TIT and IV. TSRSt 1, 11, TI1 T IV 3T STE0T AT €| ST
You have to take the given two statements to be & T QAT e T ®Y ¥ 9 7| IS gHT=a:
true even if they seem to be at variance from LT T T & T1Y 0 i=ar fe@g gt 8, ar
commonly known facts. Read the conclusions & ™ @ FuAl F mar W e @ flg
and then decide which of the conclusions EAISIY

logically follows from the two given statements.
Statements :

I. Some chairs are windows.

II. No window is skies.

Conclusions :

I. No window is chair.

II. No chair is window.

III. Some windows are skies.

IV. Some chairs are skies.
(1) Either III or IV followS
(2) Either II or III follows
(3) Either II or IV follows

(4) None follow

LN

. %9 chairs, windows 2l

IL. =TS oft window, skies &l 2l
fesapd -

I. IS ot window, chair &l H

II. @ﬁ ot chair, window &1 2
III. %® windows, skies |

IV. %% chairs, skies H

(1) = ar e 111 =1 IV @t R
(2) arar s 112 11w R
(3) = fsens AT IV TR
(4) hrE fee wdt T R

[ ]
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PHYSICS
31. Three resistances 2Q, 3Q and 6 are connected 31. o9 afcmiees 2Q, 3Q 3T 6Q, 20 V I F F1
in parallel to a 20 V battery. The electric gL Yot ﬁﬂ%%l E’ﬁv‘c‘ﬁﬁ%ﬁ T B -
current in circuit is -
(1) 10A 2) 2A (1) 10A 2) 2A
3) 3A (4) 20 A 3) 3A (4) 20 A
32 ro}i)A rgd B 32 ro/d)A rgd B
1 1 1 1
1% 1% N
In the given figure, force on rod A and rod B ﬁ{Q e IGEl ﬁ, ®s A T ®g B I o1 & fesm
are in direction respectively : SHUST: BT -
(1) Rightward direction, leftward direction (D) HERCREIERE:IES
(2) Rightward direction, Rightward direction (2) ISR, aT8 AR
(3) Leftward direction, Leftward direction (3) TZ AR, TME AR
(4) Leftward direction, Rightward direction (4) TS AR, T 3R
33.  Which is the sure test of magnetism :- 33. Www%mw% ?
(1) Attraction (2) Repulsion (1) SATHYT 2 FIRER I
(3) Polarisation (4) None of these (3) geﬁw 4 13 off 7
34. If length of a cylindrical conducting wire is 34,  Afe SRR AR 3T SRS QT AT STITE ST
doubled and area of cross section is halved, the T &ATHA @THTEF{]%?JTG'I"I?I}, yferrer gt e 2
resistance of the wire becomes :
(1) Double (2) Half D a'll\f! (2) T
(3) 4 times (4) % times (3) 47 “4) % RS
35. The alignments of four compass needles placed 35. IR HUH §'§ T T@or fo # yefdfa 21 o e
around a bar magnet are shown in the given g‘ésﬁnm%mﬁ@@% -
figure.The compass needle showing wrong é
alignment is :
é\:) 1© [N s| ©u
| @ N S @ 1l 1l
Il
(H I 2) I 3) I 4 1v ! 2) I 3) 1 @ 1v
36. Astigmatism can be corrected by using :- 36. fopaw W@‘gﬁaﬂm?ﬁ% foraT ST gar 2 -
(1) Bifocal lens (2) Cylindrical lens (1) fgwia o (2) SATER AH
(3) Concave lens (4) Convex lens (3) HAddA o 4) I
. o 9/31
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37. Two identical bar magnets are fixed with their 37. QI 9R AW I fhad fham mam § qon s C, dun
centres C, and C, at a certain distance apart. A C, F o= RE E\:\Df Tt TS 21 T R A Q
stationary charge Q (negatively charged) is (FRUTTcHh 311@'['31?[) T Ik sl & T %!-_3’ PW
placed at a point P midway between the gap of TET T 8| HAET Q U S STAT ot BT -
the two magnets as sihown in the figure The g N @ g N
force on the charge Q is :- e

P
S N®@ s N C, C,
| | | o | | |
| P |
Cy C,
(1) Directed along C, to C, (1) C,8C, AR
(2) Directed along C, to C, 2) G, g C, & AR
(3) Directed perpendicular to the plane of paper 3) U o AAreed
(4) Zero 4) A

38. A charged particle moves through a region having 38. U& ATARIG H, ?ﬁfﬁa a7 ArIad
only magnetic field directed perpendicular to its fewm & i wtar g1 e 9 @ wad =i,
direction of motion. Which of the following TE FEAT 2
quantities of the particle will not change ?

(1) Momentum (2) Speed (1) Eam (2) =
(3) Velocity (4) None of these (3) am 4 s ot T
39. Two identical bar magnets are fixed with their 39, @ UHIH T %Oﬂ:aﬁ & TH THIT TET 74T

10/31

centres C,; and C, at a certain distance apart. A
stationary charge Q (negatively charged) is
placed at a point P midway between the gap of

the two magnets as shown in the figure The

& o 39% %73 C, d C, TH-@L ¥ T g
gt g 2 v R wmumaw Q & oAl
Jrahi o 7eF b T 4 7y favg p uw
@1 ITar 7, T 39| 3 aw Q T 9 B:-

force on the charge Q is : g N @ 5 N
S N@ s N P
1 s c, o
C1 C2

(1) Directed along C, to C,
(2) Directed along C, to C,
(3) Directed perpendicular to the plane of paper

(4) Zero

(1) C,¥C, % arffew fefma
2) C,¥C, % sigfew fefm
(3) IS o O o orFarad foum |

@ =

[ ]

[ ]
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40. In anormal iron piece : 40. Torelt AT ST %E\EDE!%EF -
(1) There are no magnetic dipoles (1) g et fogra &l g
(2) Magnetic dipoles are arranged in a particular 2 W%%Hﬁ?ﬂgfﬁf\% e g 21
direction (3) SR g ot off e F 219 21
(3) Magnetic dipoles are oriented randomly ) =T S ot T
(4) None of the above
41. The term refraction of light is : 41.  TRIIT ST 3T & -
(1) The bending of light rays when it enter (1) JohIRM hT Ush HIEAH ° Eﬁ qrem § S W
from one medium to another medium g Sg
(2) Splitting of white light into seven colours (2) YRIRT =hT YAh B ST e o EITTI'@ Ky
when it passes through the prism 3) %e"r@aﬁgaﬁwmwggw
(3) Bending of light round corners of et Foardt T O T TR YRS T 9T
obstacles and apertures (4) Stz 3T
(4) Coming back of light after striking a bright
smooth surface
42. In given figure, the force on arm BC is : 42. BC WAHAATTAR :-
B o} B C
N S N S
A D A D
—Hi5 —HI5
(1) Inwards (into the paper) (D) UST o 3L T AR
(2) Outwards (out of paper) (2) U o ATEL I IR
(3) Upwards (3) S 3R
(4) No force will act on arm BC (4) BC WIS o T&l &
43. For dynamo which one of the following 43. forell S & foTe AT P TR © 2

statements is correct :-
(1) It converts the electrical energy into light energy.
(2) It converts the kinetic energy into heat energy.

(3) It converts the mechanical energy into

electrical energy

(4) It converts the electrical energy into

mechanical energy

(1) 7% forega s ol WerTefiar it & S@erar &
(2) I TSt St bl ST ol | Tl @
(3) I T oA ! (A Fll § F&AdT &
(4) =% foerd it o1 A1 Sl | saer @

11/31
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44. Magnetic field lines start :- 44. W%@T%ﬁ% -
(1) From North pole of a magnet (1) ek Iqq g«
(2) From South pole of a magnet 2) W%E’F&Wﬁ ‘%‘I}f@
(3) Either from North pole or South pole of a 3) fordt oft %\JI)T:[@
magnet o ?ﬂ'ﬁ ot Eﬁg &
(4) None of these
45. Which of the following statement is wrong : 45. 9 9 AT HAT TAT R 2
(1) Ammeter is a device used to measure current ) et ST ST, ﬁﬁ\lj‘r &R {9 o o graT @
(2) Resistance of voltmeter is small 2) et T Ifrer 7 BidT &
(3) Resistance of Ammeter is small (3) THYT 1 fcire H erar &
(4) None of these @) 390 U IS T8
46. A permanent magnet attracts : 46. THTATS ﬂaﬁﬁ @Tafﬁﬂ FLATS -
(1) All substances (1) mﬁarcoraﬁﬁ
(2) Only magnetic substances (2) Wﬂaﬁﬁ?{ a’%_gafi’rﬁ Eal
(3) Attracts & repels magnetic substances (3) ﬂﬂiﬁﬂaﬁaﬁ &l a@ﬁﬁ T gfceridd ar ®
(4) None of these “4) 0 ¥ IS TR
47. A thin lens has more focal length, then its power 47. T Yall | [SHET Bkl STFITE SATET §, SHehT
will be - 31fch gt -
(1) More (2) Less (1) =fers (2) =4
(3) Zero (4) Infinity (3) (4) A
48. Which of the following statement is true for 48. >||°|3i?|°h toiolchi % fo ST F el 2 2
natural magnets :
(1) They are strong magnets (D ﬁ?ﬁ%ﬂT@ﬂW%
(2) They attract all types of substances 2) ﬁ%(a"v_g[ 31135&?[ FA T
(3) They have irregular shape (3) ST ATR srfafaa arar g
(4) None of the above 4) 0 § g off 7
49. Joule/coulomb is the unit of : 49. S/ Rt shTS © 2
(1) Electric potential (2) Current (1) fogdava (2) forega
(3) Force (4) Work (3) A 4) &
12/31 o o
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path ts suceess

50.  Which of the given figures is correct : 50. feum fa=i o, s e wdi @ -
x x | x X x x | x x
X ® I!\ X X X x I M X x
x x | x x B x x | x x B
ey ©)
x * X * x x X x 3
x x | x x F x x | x x F
x x | x X x x | x X
x X x X x X x X
= X A | B = ¥ A | B
= ¥ x X
2 x x 2 x x
h x X h x X
x X x X x X x X
I ey I + B
FAl : A :
(3) s (3) 2
F | _ o | .
4 — ~B (4) = }5
51. A vertical bar magnet is dropped from position on 51, U JEdrR ﬂw EARESTY g1 W & S fien
the axis of a fixed metallic coil as shown in fig - 1. ST 21 S foh Fig - 1 7 fe@m R Fig - I T
In fig - 11, the magnet is fixed and horizontal coil is Er8 REE? F FH s EARNRIAS GRS REEC
dropped. The acceleration of the magnet and coil QEHWW a, W a, ?, dqdT—
are a, and a, respectively then: g .
' bt
H i < N H
N
T Dfixed H C' e el
i e fixed == N fig - I fig-11
fig-1 fig-II
(1) a,>g,a,>g (2) a,>g,a,<g (1) a;>g,a,>g (2) a,>g,a,<g
(3) aj<g,a<g (4) a;<g,a,>g (3) a;<g,a<g (4) a,<g,a>g
52. Inside the bar magnet, direction of magnetic 52. %ﬁe%ﬂwé% Iy, Wﬁ'@ﬁﬁ faTT Bt © 2
lines of force is from -
(1) North pole to south pole (1) 38 %aﬁa’?avﬁ ad
(2) South pole to north pole (2) wfeoft %H@ 3l a4
(3) Both (1) and (2) are correct (3) (HTF (2) e aer®
(4) None of these 4) 30 W g el
. o 13/31
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53. For the following ray diagram choose the 53. ﬁ@%ﬁ%%@ﬂﬁmﬂﬁ -
correct option :- |
|
I i | r
o
ilr
]
|
]
| |
i
|
(1) £i>4r (2) 4i=1r (1) 4i>s4r (2) 4i=sr
(3) i< sr (4) can't say (3) 4i<<r (4) g TS oRd
54. A current I, carrying wire AB is placed near 54, TH dX AB foed &ma I, 2, fordlt @ @ CD
another long wire CD carrying current [,. If AB foraw am I, 2% gy T B IS AB Wi €9 °
is free to move then it will move : < Hehdl © d o8 =l -
D D
L, A = I, 4 >
A 1 B f A 1 B
C C
(1) Towards left (2) Towards Right (1) =7t AR (2) =it AR
(3) Upwards (4) Downwards (3) W 4) frar
55. Conventional current flow in a direction : 55.  O{9UNTd 9T e © -
(1) Of motion of electron (1) S o i ot e o
(2) Opposite to electron motion (2) TS o i <t fawm o forada
(3) From low potential to high potential (3) *H forva & S forver it @1
(4) None of these (4) 3T q FIS T
56. A, B and C are identical bulbs. What happens 56. A, BT C US4 dcd 2] A sTed B qagrﬁsrm
to the brightness of A and C if bulb B is fused : AT A TS C & dfieldl W FIT TH1E I 2
¥ ¥
| | ||
I 1!
\% \%
(1) Brightness of both increases ) ERIEIKIECIEES P
(2) Brightness of A increases and C decreases (2) A i digar STt ud C FT Tt
(3) Brightness of B increases and A decreases 3) C &I dfterar STt T A it met
(4) None of these @) 39 O hIS TR
14/31 ° °
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57. A straight wire is carrying an electric current :- 57. UsHrEfaRdA ﬁﬂ\l}f T TR © -
(1) There are no magnetic lines of force near the wire (D) W%ﬁﬂﬁaﬁéﬂﬁ'ﬂ & @l T gt
(2) There are line of force and they are ) Wi’@ﬁ BT qUT IR T ST §§ ERIR
circular lines encircling the wire gt
(3) The lines of force are straight lines parallel 3) ﬂﬁiﬁﬁi’@m dieft anfl qer a8 & g
to the wire Bl
(4) The lines of force are straight lines parallel to @) %\lﬁiﬁ?{ @ el gt qer R % FHER
the wire in the direction opposite to the current TS G o o gt
58. A magnetic field line is used to find the 58.  <erhra TarsAl w1 IuAnT foraehl fawm frerre #
direction of :- BIATR ?
(1) South-North (1) IR - gfeqoft
(2) A bar magnet 2) QEFE\!W
(3) A compass needle 3) QEF‘OFECITHQ?
(4) Magnetic field (4) i &=
59. Equivalent resistance of the circuit shown above 59. fouTTu wfdhe 1 aueher Sicie B -
will be :- 2
20
AN/ 20
20 $20
20
20 ‘ § 20 20
A p B
A 20 v Hi
HF—————
(1) 3.33Q 2) 1.25Q (1) 3.33Q 2) 125Q
3) 25Q 4) 4Q 3) 25Q 4 4Q
60. Which defect in human eye arises due to the 60. AT o TATHR €T T AT 8 F HidT a1y
irregularities in spherical shape of cornea ? BIATE 2
(1) Cataract (1) mfeanfsig
(2) Hypermetropia or long sightedness 2 %533“ Iy
(3) Myopia or short sightedness 3) Frepeadt g
(4) Astigmatism @) ‘g'ﬁ?é’qrq
o o 15/31
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61.  Formula of Ammonium sulphate s : 61.  STHITRIT T 1 TE G € -
(1) (NH,)5(SO4)5 (2) (NH,),SO, (1) (NH,)5(SO4)s (2) (NH,),SO,
(3) NH,SO,), (4) All are correct (3) NH,(SO,), (4) 3T Tl
62. Sulphonic acid group is generally present in :- 62. HTHIR STFCT T STTH T O T ST &-
(1) soaps (1) @& d
(2) synthetic detergents (2) Hhmfectsie
(3) both (1) and (2) (3) (DT Q)3T H
(4) None of these (4) T Y FIE TE
63. Observe the experimental setup carefully :- 63. TANTICH Te3TT hl SAH ¥ W : —
W - ] TV N
Z A A A
| | | |
Kwh;:c.NaOH = czo:c.NaOH KWﬁczor:m_Na@H &_c;:c. NaOH
(0 (I TI ITI
W W

16/31

<——Conc. NaOH

Zn
——————————

i
When NaOH reacts with Zn then H, gas is

released. This gas burns with a blue flame and

popping sound. Out of above techniques which

one is correct :

(1) OnlyII (2) Only III

(3) Both (II) & (III)  (4) All are correct

|

<——Conc. NaOH

Zn
[ ]

(I
S9 NaOH 5 & @y stfufsear sear @ @1

BTEEN 19 fshardt © 9% T fieft &t o wifd
&1 o TTY STeAdT & SUIRh deh{ehi o & Tl © -

(1) Fa I
(3) @ (1) T (1)

(2) a1
(4) Uk Tt

[ ]

[ ]
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65.

66.

67.

68.

The molecular formula of an ester is
C;H,COOC,H;. The alcohol and the acid from
which it might be prepared are :

(1) Propanol and Propanoic acid

(2) Ethanol and Butanoic acid

(3) Ethyl alcohol and Propanoic acid
(4) None of these

When ferrous sulphate crystals are heated in a

test tube, we observe :

(1) acolourless gas with no smell is evolved
(2) abrown gas is evolved

(3) green colour of the salt fades and a gas
with the smell of burning sulphur is

evolved
(4) green colour of the salt fades and no gas is evolved

A few drops of liquid ‘X’ were added to
distilled water. It was obserbed that pH of the

water is increased. X will be-
(1) lemon juice (2) NaCl solution
(3) Na,COj; solution (4) dilute HCI

Zinc reacts with an acid as well as with a base
to liberate hydrogen. On the basis of this what

should be the nature of the zinc metal ?
(1) Basic (2) Acidic
(3) Amphoteric (4) Neutral

Which of the following is a defect of the

Mendeleev’s periodic table ?

(1) The position of alkali metals

(2) The position of transition metals
(3) The position of isotopes

(4) Position of Halogens

64.

65.

66.

67.

68.

TEX 1 AEA C;H,COOC,H; & Teshied R
a7 oo 38 TR forar ST EehaT © -

(1) =TT 3T TUATSH 0T

(2) OIS SR SEATEH 3FFe

(3) TS Ueehied 3N IS 37red
(4) 39 @ S T

o B8 Hothe fohted sl qEaelt § T hd g
3G FTeT0T o W -

(1) for vier arreft T A frererdt @
(2) T ¥ T Freperd 3

; AT T B 4T T 7€ ST § 3R S §¢
) e 61 e et et e P &

AT KT B T {OheRT U ST & 3] his 19
@ T2t freherdi @

28 X I %D S[al Sl S I H A T S T
pH &g SITdT & X 81 :-

(1) His e (2) NaCl foerma
(3) Na,CO,faetm  (4) T HCI

N et 3R &R SFT & @y SAfaferar ek
TIESISH 119 T & 36 SATIR T ek 91 il THR
BT -

(1) &= (2) 3T
(3) SwaeHl (4) e

Hecls i Tgd arvft s fefafad & 9 e
AR ?

(1) & arq i feerfa
(2) HsHHOT AT s e
(3) THETHeRt &t fufa
(4) T i Rufa

17/31

[ ]

[ ]



ALLEN/

=3
- " CAREER INSTITUTE
B KOTA (RAJASTHAN)

ASAT : CLASS-XI SAMPLE TEST PAPER

69.  Which of the following substances is not used 69. fFefafegad @ @ +iwar v @@ werdt o
as an anti-oxidant in foods ? QQ‘T@W@E T I8 I § foram Srar g 2
(1) BHA (Butylated Hydroxy Anisole) (1) BHA (Butylated Hydroxy Anisole)
(2) BHT (Butylated Hydroxy Toluene) (2) BHT (Butylated Hydroxy Toluene)
(3) Carbon tetra chloride (3) Carbon tetra chloride
(4) All of the above (4) SR &t
70. Reaction between lead nitrate and hydrogen 70. <iSAISEL T HEEIS BRI S g rffsrar e
sulphide gas gives black precipitate of AT ATET X 0 & X BT : —
compound X. X will be :
(1) PbSO, (2) PbSO;, (1) PbSO, (2) PbSO;,
(3) PbS (4) PDbS, (3) PbS (4) PbS,
71.  Take a small amount of washing soda. Add to it 71. St @t i B HEAT R 3EH 1 mL dd HCI
about 1 mL of dilute hydrochloric acid. What forem Wt e s € -
will you observe :
(1) H, gas comes out with pop sound (1) H, g feperd] @ U7 eafe & |1y
(2) CO, gas comes out with brisk (2) CO, T st e o Ty feherdt &
effervescence 3) Faer Iartferer  srfufsran Eﬁg g EH
(3) Only neutralisation reaction occurs, no gas feperdt ®
is released. (4) The FTFET ST
(4) White coloured ppt is formed
72.  Which of the following elements A, B, C, D | 72. WRHIY[ 3His 2, 3, 7, 10 3R 30 % foIQ 3w A,
and E with atomic number 2, 3, 7, 10 and 30 B,C,D AR E acd & 791 0 9 $i98 deg @9
respectively belong to the same period ? AT o B -
(1) A, B,C 2) B,C,D (1) A, B,C 2) B,C,D
(3) A,D,E (4) B,D,E (3) A,D,E (4) B,D,E
73.  The functional group which always occur in the 73. ToRaTcHe g St foF g e PIEK) & T |
middle of a carbon chain is : BT -
(1) Alcohol (2) Aldehyde D Tehied (2) TfeseEe
(3) Ketone (4) Carboxylic acids (3) e (4) TR 3T
74. The formula of the compound is A,Bs. The 74. aﬁﬁlﬁﬁaﬂﬂj A,B; T g wTed wanedl A 3R B
number of electrons in the outermost orbits of ERREST IR REICo) R f—
A and B respectively are :
(1) 6and3 (2) 5and 6 (1) 633 (2) 536
(3) 5and?2 (4) 2and3 (3) 532 (4) 233
18/31 . o
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75.

76.

71.

78.

Which of the following order of atomic / ionic

radius is not correct :-

(1) T>1>T (2) Mg?>Na">F"

(3) PP <p® (4) Li>Be>B

For balancing the given chemical equation, if
the coefficient of C,H, is 4, the coefficient of
O,is:

CH, + 0O, — CO, + H,0
(1) 4x+y (2) 4x+4y
(3) 2x+y (4) 2x+2y

Match the chemical substances

Column (I) with their appropriate application

given in

given in Column(II).

Column (I) Column (I)
Bleaching .| Preparation of
(A) @
powder glass

. ... | Production of H,
(B) | Baking soda | (ii)

and Cl,
(C) | Washing soda | (iii) | Decolourisation
Sodium ) \
(D) . (iv) | Antacid
chloride

(1) A~(ii), B-(i), C-(iv), D~(iii)
(2) A-(iii), B-(ii), C-(iv), D-(i)
(3) A-(iii), B-(iv), C-(i), D-(ii)
(4) A~(ii), B-(iv), C-(i), D-(iii)

Graphite is used as lubricant because it is /

has :

(1) Greyish black

(2) Insoluble in water
(3) High melting point

(4) Soft and slippery

75.

76.

71.

78.

T / Srtes Bear & frefafad § @ i

T Hel TR -
() T'>I>T (2) Mg?>Na">F"
(3) PP <p® (4) Li>Be>B

fau v grarafiew @l S dqiad &
fae =fe C,H, % Tori® 4 & @1 O, *1 TUIH
FI

C,H, + 0, —— CO, + H,0

(1) 4x+y (2) 4x+4y
3) 2x+y 4) 2x+2y

e (1) T AT HT I6h ST YA
et (I1) 3 T SIS -

i (I) i (I)
78] Bl (i) | et =7 fwtor
BISES
B) |sfFTEET | (i) H, 3 Cl, =1
AT
(C) | anfsirarer | (iii) | TEH e
(D) mg (iv) Q:'Zﬁ{ S

(1) A<(ii), B-(i), C-(iv), D-(iii)

(2) A<(iii), B-(ii), C-(iv), D-(i)

(3) A<(iii), B-(iv), C-(i), D-(ii)

(4) A<(ii), B-(iv), C-(i), D-(iii)

UHEE I slhe & & H WAM foRAT ST @
Fifoh T :-

(1) T3H se1eh

(2) o SR

(3) 3= IR

(4) T IR HEAT I

19/31
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79. According to Mendeleev’s periodic law which 79. UsAI® F AEd A9 F SIRGIN FI9 deal & o
properties of the elements are the periodic WW%W STadtar fe@rd @ -

function of their atomic masses :

(1) Physical properties only ) av_olﬁ‘iﬁﬁEF{[UT

(2) Chemical properties only 2) WTI’H‘I’EI'EEFTT

(3) Physical and chemical properties both 3) Mifaes 3t rramﬁzﬁaﬁgw

(4) None of these (4) 3T q HIS T

80. When ethanoic acid is treated with ethanol in 80. SIS UAATSH ITFA I UIATA o @1y AThRam
presence of H,SO,, then the products is/are : A 2 AT SedTE T -

(1) HCOOC,H; and water (1) HCOOC,H, 3T gt

(2) C,H,COOCH; and water (2) C,H,COOCH, 3R urft

(3) C,H;COOC,H; and water (3) C,H,COOC,H, 3T qrt

(4) CH,COOC,H; and water (4) CH,COOC,H; 3T urft

81. Choose the wrong statement : 81. ToTd U I Kl T -

(1) Chemical equation helps us to know the ratio (1) TEmEfes gHeor ANERE IR g it
of the moles of the reactants and products. o 3433111?13[ % T T SfqTaT @

(2) The relative number of atoms and ) ‘IquTU\pﬁ 3R 3TU\I3ﬁ FI go g&ar w
molecules can be known by using THEE TR T SYINT ek ST ST
chemical equation TehdT &

(3) A chemical equation tells us about the rate of (3) Wh T aeieRtor g6 Stffera Y gt 3
reaction and the time taken for completion 3 qqa B H o ITe] THT % S H ST ©

(4) The representation of actual chemical 4 TOTIE THEHT T ST Fleh ARATIh
equation becomes easy by using equation. arfirfsran st gfafferce st & ST @

82. Which of the following reactions represents a 82. Tmr o o et safurferan fafereenmom srfuferar 2
double displacement reaction ?

(1) 2Pb(NO;),(g) — 2PbO(s) + 4NO,(g) + (1) 2Pb(NO;),(g) — 2PbO(s) + 4NO,(g) +
0O,(g) 0,(g)

(2) 2FeSO4(s) = Fe,04(s) + SO,(g) + SO4(g) (2) 2FeSO4(s) = Fe,04(s) + SO,(g) + SO5(g)

(3) BaCl,(aq) + Na,SO,(aq) — BaSO,(s) + (3) BaCl,(aq) + Na,SO,(aq) — BaSO,(s) +
2NaCl(aq) 2NaCl(aq)

(4) Zn(s) + 2AgNOs(aq) — Zn(NOs),(aq) + (4) Zn(s) + 2AgNOs(aq) — Zn(NOs),(aq) +
2Ag(s) 2Ag(s)

20/31 . o
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83. Ethanol reacts with sodium and forms two 83. IAIA Wifeam & @y AR Fh A Ieug
products. These are : T S E -
(1) Sodium ethanoate and hydrogen €8 Afeay 9AT5e 3K E’IS@\_SH
(2) Sodium ethoxide and hydrogen (2) Tifeaw saaTES AN ERS IS
(3) Sodium ethanoate and oxygen 3) Aifgan 9MTge 3R HATefisH
(4) Sodium ethoxide and oxygen (4) Tfeam STETES 3 AT
84 CH, +Cl, ", CH,CI + HCI this reaction | 8% CH, + Cl, — CH,Cl + HCI 38 i
sunlight sunlight
is known as : I ST ST & -
(1) Substitution reaction (1) wfeeema srfsrfsran
(2) Addition reaction (2) INTIeH SAffeRan
(3) Elimination reaction 3) m@qaﬁﬁm
(4) Condensation 4) Gaaur
85. The pH of a compound is found to be 9. The 85.  Ush ifiTak T pH, 9 I 1| ATk 81 -
compound can be :
(1) HCI (2) Na,CO, (1) HCI (2) Na,CO,
(3) NH,CI (4) CH,COOH (3) NH,CI (4) CH,COOH
86. The atom having smallest size in the list below 86. = g ‘éljﬁ T ¥ gl BIE AR Hl AT
is - AT :-
Na, Si, Cl, Al Na, Si, Cl, Ar
(1) Na (2) Si 3) Cl 4) Al (1) Na (2) Si 3) Cl 4) Al
87. Which of the following is not a soap ? 87. ﬁmﬁﬁaﬁﬁﬁﬁwwqﬁ% ?
(1) sodium acetate  (2) sodium palmitate (1) wifeaw e (2) Hifgaw unfiee
(3) sodium stearate  (4) sodium oleate (3) wifemmede (4) wifeaw nfae
88.  Arrange the following elements in the order of 88. fmfvfad deal = 9 wed BT YTd shH )

their increasing non-metallic character :
Li, O,C,Be, F

(1) F<O<C<Be<Li
(2) Li<Be<C<O<F
(3) F<C<O0<Be<Li

(4) F<O<Be<C<Li

fofiay :

Li, 0, C, Be, F

(1) F<O<C<Be<Li
(2) Li<Be<C<O<F
(3) F<C<O0<Be<Li

(4) F<O<Be<C<Li

21/31
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89. Choose the correct option : 89. T faehey &1 == hifvTT
Statement I :- The aqueous solution of oxide of HYA-1 - AR AfaEe F1 S foeay fid
magnesium turns blue litmus red. AcHE 1 AT § Sgerar &l
Statement II :- Generally metallic oxides are FHYA-I1 :- HHAR TR Ticaeh ATFETSS & Thid
basic in nature. % 2 2l
Statement [ and II are true and Statement 0 FYF-1 3T FHUA-1] T 7 3T FHYH-11 -1
I is correct explanation of Statement [ T IET SATEAT AT &
(2) Statement I and II are false (2) FUA-1 11 36T 8
(3) Statement I is true but statement II is false. (3) pYAI T g AN 3T &
(4) Statement I is false but statement II is true. (4) YT AT SR e R
90. On electrolysis of brine solution the products 90. A T =1 ﬁ?\:lfr AU HA T IS I

22/31

formed are

(1) Sodium and Chlorine

(2) Hydrogen, Chlorine and Oxygen

(3) Hydrogen, Chlorine and Sodium hydroxide

(4) Sodium hydroxide, Chlorine and Oxygen

BT
(1) wifeawy 3R FAifa

(2) TETEEISH, FANE TR AT

(3) TEEISH, FAli S Hifead TEgTee
(4) BT STESITaTES, FEAR S Afaesr
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BIOLOGY
91. The longest animal cell and functional unit of 91. walfs ol ST HITERT qAT diehT o o
nervous system is— ToRaTeHeh ShTS ©-
(1) Nephron (2) Neuron ) Eiac 2) W;(TT-T
(3) Chondrocyte (4) Osteocyte (3) SUTRYA HITRT  (4) XA HIITHT
92.  Enzyme pepsin is synthesized and acts in— 92. U-~TeH, Uftds forad Tyl rar @ aur e s
2
(1) Stomach (2) Small intestine (1) AHRE 2) BT A
(3) Buccal cavity (4) Oesophagus (3) HE@ =T (4) TTET
93.  Micronutrient is— 93. {&FW%—
(1) Nitrogen (2) Potassium (1) TS (2) urRfIEm
(3) Boron (4) Calcium (3) S (4) ez
94. In human urea is formed by and urine 94, II—:[Wﬁ ST aﬁmwﬁnﬁ@m%wnﬁ
is formed in (Respectively). 1 fmtor o BT 2- (ShHRT:)
(1) Liver, Lungs (1) Ihd, BFHH
(2) Liver, Kidney (2) Ihd, Jefeh
(3) Kidney, Liver (3) dch, Thd
(4) Liver, Gall bladder (4) I, To=mT
95. When a homozygous tall pea plant is crossed 95. E‘H@WH@W@WWE@W%
with heterozygous tall plant. What will be the GOl U I AU ST o AN gafaar
phenotypic ratio of progeny (according to RIS REIN BI-
normal Mendelian inheritance)—
(1) 50% tall, 50% Dwarf (1) 50% &%, 50% s
(2) 25% tall, 75% Dwarf (2) 25% v, 75% S
(3) 100% tall (3) 100% r=
(4) 75% tall, 25% Dwarf (4) 75% v, 25% S
96. In human digestion of carbohydrate and protein 96. IIEIFTEF amaiiaséz Wuﬁzﬁqu:@ A dr
start respectively in _ A and__ B where as B T ShU: %ﬁm%wﬁwj C AR
completes in_ C .
(1)  A-Buccal cavity, B-Stomach, C-Small intestine (1) A-T@TET, B-AWRE, C-BIel 31
(2) A-Buccal cavity, B-Stomach, C- (2) A-H9TRT, B-3HRM, C—uferert
Oesophagus (3) A-TfbehT, B-SIdT 317, C—3{MHR™™
(3) A—Oesophagus, B-Small intestine, C—Stomach (4) AT, BB 37, C_aet 3T
(4) A—Oesophagus, B—Small intestine, C—
Large intestine
. ° 23/31
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97. The breathing in woody stem of a plant takes 97. R a H YaeH feReeh ATEIH © BIaT 8- —
place through—
(1) Lenticels (2) Root hair (1) aray 2 H_\Ffﬁ'q
(3) Stomata (4) None of these 3) W™ 4 T § IS T
98.  The growth of tendril in pea plants is due to— 98. T UTEUl H YT o 7Tt fehereh o Bret 2-
(1) Effect of light (1) 9T 99T
(2) Effect of gravity (2) e qHIE
(3) Rapid cell divisions in tendrillar cells that (3) AT shifSTeRTe § hif3TehT forars o hmor
are away from the support ST HER o EQ Bt &
(4) Rapid cell divisions in tendrillar cells in (4) A FIfErEER 7 o % R 'eN %
contact with the support T Bt ©
99.  Site of fertilization in human is — 99. HI™ T fSe ST T BT 8-
(1) Fallopian tube  (2) Uterus (1) e afersr  (2) TiEE
(3) Ovary (4) None of these (3) TS (4) TTH A HIE T
100. Branchial respiration occurs in— 100. SifoRareT IqE 97T ST 2-
(1) Prawn (2) Grasshopper (1) s 2) ﬁ@\?ﬁf
(3) Earthworm (4) Housefly (3) =T (4) =R HREt
101. What will happen if one kidney of a person is 101. aﬁﬁﬁmwﬁﬁwwwﬁwézﬁwm?
removed?
(1) The person will die (1) =afh T ST
(2) The person will survive and remain normal 2) =k amTr Y e Sffaa wm
(3) Urea will accumulate in the blood 3) & o ?Jj{?TIT T STHTE &1 SR
(4) Urination will stop (4) HAHT IcES &k ST
102. One of the following organism does not 102. =1 o 9w Sfa fgfows & g s 7=
reproduce by binary fission— AT 2-
(1) Leishmania (2) Amoeba (1) ST (2) e
(3) Paramecium (4) Plasmodium (3) Yrefifsrem (4) THITEIH
103. In pulmonary circulation, heart pumps blood to 103. W’J UiaeT ¥ g, BHhel i Th 7 Hdl &
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lungs which is—
(1) Oxygenated (2) Deoxygenated

(3) Mixture of these (4) None of these

STt foh BT 8-
(1) A=t
(3) I T faspor

(2) AT
(4) T 9 RIS T

®
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104. When a plant is girdled (ringed) permanently— 104. U TATS €Y ¥ Ffeld U167 H-
(1) The root and shoot die at the same time ) ngfamuﬁ%@mnﬁ%
(2) The shoot dies first (2) T Usc WAl §
(3) The roots dies first 3) W@Wﬂﬁ%
(4) Neither root nor shoot will die (4) A qan TRIE QT & TR A
105. A blood vessel which carries blood back to the | 105. T aTfe-t ST Th %! ATTUE ad § U1 8, I8 &-
heart is—
(1) Artery (2) Vein (1) awt () T
(3) Capillary (4) Platelet (3) hiETHTE (4) fomraroy
106. The substance that triggers the fall of mature 106. sHi=ET TR uftude g 9 wal & T & i@
leaves and fruits from plants is due to— T ©-
(1) Auxin (2) Gibberellin (1) Afee (2) fossifer
(3) Abscisic acid (4) Cytokinin (3) UsHfae T (4) GIEHTRHT
107. During photosynthesis, oxygen comes from— 107. TRISTETINUT | SATfersi o1 fmior grar -
(1) Water (2) Carbohydrate (1) ST 2 aﬂaﬁ%’@z
(3) Carbon dioxide  (4) Light (3) FEISEHFES  (4) THA
108. Which one of the following is not a part of 108. 17 T T I Ueh SISl 3T T 9T T 8 2
small intestine?
(1) Duodenum (1) @j{\@ﬂ'q
(2) Jejunum ) é\—ﬂ:p:r
(3) Vermiform appendix 3) ‘efﬁ?c\_ﬁ afeifSeRT
(4) Tleum (4) 3ferm
109. Which one of the following sets of animals produces 109. f= o @ &R Gl-_gjfi‘lﬁ T HE Jead: AT Hh
the same substance as their chief excretory product? o et UaTd T ScdTe hid 87
(1) Cockroach, camel and lizard ) HIRE, e aT fushedt
(2) Man, dog and camel (2) |7+, WW?R
(3) Amoeba, ant and antelope (3) 3, %ﬁ??ramq_ﬂ
(4) Fowl, fish and frog “4) Tﬁ, St T Hesh
110. Analogous organs are— 110. THEY 3T &-

(1) Similar in origin and similar in function
(2) Similar in origin and dissimilar in function
(3) Dissimilar in origin and similar in function

(4) Dissimilar in origin and function both

(1) Scafr o To qm & § 99
(2) 3caf ¥ oue aur & § e
(3) Scafr § o= qem & 7 aue
(4) Scafr ¥ fo= qen & A i
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111. Which step of photosynthesis is responsible for 111. TRTST HYAYOT ST hiET =0T ATfodsi 0T &
the evolution of molecular oxygen? for forwer grar 22
(1) Light reaction ) TehTST SATITRaT
(2) Dark reaction (2) TIRIRT TfeIfsRaT
(3) Calvin cycle (3) Hfcaw =sh
(4) Kreb’s cycle @) Hed <5k
112. In which of the following animal respiration is 112. fea o @ fFm ST=q T gt IqET qrAT Srar
cutaneous? g2
(1) Rabbit (2) Cockroach (1) T (2) HwTE
(3) Tortoise (4) Earthworm (3) HB3 4 ao_g’[@ﬂ
113. Progesterone is the hormone produced by : 113. ‘Sﬁé}_{ﬁ T foheeh ST IedTfed BraT -
(1) Testis (2) Thyroid (1) =mor (2) UAES
(3) Ovary (4) Pituitary (3) SATSEE (4) vy
114. Which of the following methods of | 114. = o & s TifRies 3= Suriela <
contraception protects a person from acquiring SATIY T ST 87
a sexually transmitted disease?
(1) Surgery (1) I
(2) Condoms 2) Frem
(3) Copper-T (3) IA-T
(4) Oral pills (4) 7@ & ot S ATt et
115. The exchange of gases between inhaled air and 115. 31=:3qfyq EIREEIRG % HeT TGl 1 ATEH-I8H
blood is referred as— FHEATAT -
(1) Cellular respiration (1) wifEh vqe
(2) External respiration/Breathing (2) oI TgEq
(3) Internal respiration (3) 3T=ieh Tqa
(4) Oxidation of food (4) TSI ST SATerefaRTor
116. Long loops of Henle corelate with : 116. WWW@W&%%
(1) More concentrated urine (1) 3fers wifsa el
(2) More dilute urine (2) fersh qf T
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(3) Urine hypotonic to the blood

(4) Urine isotonic to the blood

(3) ¥ Tk shl ot § 3Teq qrEd
(4) T T sh1 QT H &H qUEd

[ ]

[ ]
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117. Which one of the following is STD? 117. = o @ e <Afies gafia snfer 2
(1) AIDS (2) Typhoid (1) Ted () eréwEe
(3) Dengue (4) Influenza (3) =T (4) FHRIEST
118. Transportation of CO, is mainly occurs 118. CO, %1 uftgsd RS REL [EZERAUR IR
through—
(1) RBC (2) Lymphocytes (1) O ThHoeRE (2) forwremsed
(3) Plasma (4) All of these (3) TArsHT 4 STE auft
119. Transporation of soluble organic food material 119. ATP i "erar ¥ focasiiar sefie e et
by using ATP is— T qHEe BT &-
(1) Active process )] EDRED
(2) Passive process 2) Frftsra wferan
(3) Controlled by xylem vessels (3) STEaH arfeent g =t
(4) None of these (4) 0 | IS T
120. Pulmonary circulation occurs through which 120. W’J UTae ge o fohg ATfi=8 § BT 82
ventricle of heart?
(1) Right side (2) Leftside (1) /= (2) /@
(3) Both(1)and (2) (4) None of these (3) (1) (2)a=t (4) 379 9 s T

[ ]

[ ]
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121.  Which term of the sequence 3, 8, 13, 18, ..... is 4982 121. 3,8, 13, 18, ..... Uil ¥ S9-G7 U< 498 B2
(1) 95 (2) 100" (1) 95 (2) 100"
(3) 102™ (4) 101™ (3) 102" 4) 101™
122. Ifsin*0 — cos*0 = K then sin’0 — cos?0 is 122. Ifd sin*0 — cos*0 = K T sin0 — cos?0 BN -
MK @K @)K @K MK @K @)K @K
123. . . 1 1 123 1 1
Simplif — : . gaaﬁﬁ-q _ :
Py cos?A  cosec?A — 1 cos?A  cosec?A — 1
(1 1 2) -1 (1 1 2) -1
(3) cot’0 (4) tan’0 (3) cot’0 (4) tan’0
124. Solve fory : v/7y* — 6y — 13,/7=0 124, y&HfAuea s : /7y? — 6y — 13/7 =0
2 2
1 \/77 2\/7 2 3’ Iy 1 \/77 2\/7 2 3) -
(1) (2) 7 (1) (2) 7
3) 2, —/7 (4) None of these (3) —1—3—, —/7 4 30 § IS T
V7 7
125. Which of the following is a terminating decimal? 125. Tr=fafed o @ -9 9id s3med 8-
4 3 2 1 4 3 2 1
1) = 2) = 3) = — — — - —
m=z @3 OF @3 m= @3 OF @;
126. Find the number of real zeros of P(x) = (x —2) 126. P(x) = (x —2)* + 3 o I&dfash Q‘Iﬁ i HE T 1
+3: Eﬁﬁl’q -
(1 1 2) 0 (1 2) 0
(3) 2 (4) None of these (3) 2 (4) T T A T/l
127. A number in the form 15q + 7 can be written | 127. T®&AT 15q + 7 1 39 &9 7 «ft forar 51 Tkt 21
as :
(1) 3m+3Q2) 5Sm+2 (3) 5Sm+3(4) 3m+2 (1) 3m+3(2) 5Sm+2 3) Sm+3(4) 3m+2
128. In the following figure, PQ is parallel o BCand PQ: | 128. & 7w fu &, PQ 3t BC UH-g& % WHIRK &
BC =1: 3. If the area of the triangle ABC is 144 e, HRPQ : BC = 1 : 3 81 Al FAvfst ABC 7 &%t
then what is the area of the triangle APQ? 144 cm? ®, a9 %P‘i\_rf APQ kT AT ST BT 2
A A
P Q P Q
£ 3 B C
(1) 48 cm’ (2) 36 cm? (1) 48 cm’ (2) 36 cm’
(3) 16 cm’ 4) 9cm? (3) 16 cm’ 4) 9cm?
28/31 . °
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129.

130.

131.

132.

133.

134.

135.

136.

If the zeroes of the rational expression (ax + b)
(3x +2) are _TZ and %, thena+b=__  (a
is prime number).

1 -1 2 0

31 (4) None of these

For all values of 0, 1 + cos 0 is always
(1) positive (2) negative
(3) non-positive (4) non-negative

If the system of equations 4x + py = 21 and px
— 2y = 15 has unique solution, then which of
the following could be the value of p?
(A)103 (B)105 (C)192 (D) 197

(1) Both (A) and (B)
(2) Both (C) and (D)
(3) (A), (B) and (D)
(4) All of (A), (B), (C) and (D)

, cos 6 sin 0
Find : —
sin(90° — 0) cos (90° — 0)
(1 o 2 1 (3) 2 4 -1
The HCF of polynomials (x> — 2x + 1) (x + 4)

and (x> + 3x —4) (x + 1) is .

M x+HE-1)  2) xFHE+4

) xFDHx-4)

For what value of k do the equations 3(k — 1) x
+ 4y = 24 and 15x + 20y = 8(k + 13) have

infinite solutions?
(H 1

If 9th term of an A.P. be zero then the ratio of
its 29th and 19th term is

(4) (2-1)(x+4)

(2) 4 3) 3 4 2

(1) 1:2 @) 2:1

(3) 1:3 @) 3:1

(cosec A —sin A) (sec A — cos A) (tan A + cot
A)=

M -1 @ 2 (3) 0 4 1

129.

130.

131.

132.

133.

134.

135.

136.

afe TehETA AATE (ax + b) (3x + 2) % J[ATH

_Tzam%iaaajtb:i(amm
).

() -1 2) 0

3 1 (4) ST YIS T
orafi oI fore, 1 +cosOmIT -
(1) g-dTcH® (2) =BUTIcHR

(3) HA-YATcHS (4) FA_HUMCHR

aﬁmﬁm4x+py=2l3ﬁ'{px—2y
=15 % gl & 2, q9 Re T & & -1 p 1
HH & HhaT @ 2

(A)103 (B)105 (C)192 (D)197

(1) (A)a(B)aHi
(2) (C)F (D)aH
(3) (A).(B)d (D)
(4) &t (A), (B), (C)¥ (D)

cos 0 sin 0
T b sin(90° — 0) cos (90° — 0)
(1) 0 ) 1 3) 2 4 -1
TEUE (x% - 2x + 1) (x + 4) 3 (x* +3x — 4) (x +
1) 1 I=<Ias HTedeh (HCF) 8T -

M x+HE-1) Q) xFHE+4H

B x+Dh(x-4 @ X-1)(x+4)

k % -8 T o fo7w &t 78 TefieRtor 3(k — 1) x +
4y = 24 3 15x + 20y = 8(k + 13) & 3= &
Rl

M1 3) 3
JTe T =X T T 9 3 98 [ 2, T 396 29
o qT 19 o I&T T ST < -

(2) 4 4 2

(1) 1:2 @) 2:1

(3) 1:3 @) 3:1

(cosec A —sin A) (sec A — cos A) (tan A + cot
A)=

-1 @ 2 3) 0 4 1
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137.

138.

139.

140.

141.

142.

143.

30/31

If the system of equation 2x — 3y = 3 and —4x
+qy = g is inconsistent, which of the following

can not be the value of p?

() 24 () -18 (3) -12 (4 -36

Determine k such that the quadratic equation x*

+ 7(3 + 2k) — 2x (1 + 3k) = 0 has equal roots :

(1) 2,7 2) 7,5

10
3) 2, ——
3 2 -3

LCM of two co-primes (say x and y) is

(4) None of these

(1) x+y () x-y

X
(3) xy @ 3

If p (x) = 2x* + 3x — 2, then zeros are :

(N 1/2,-2 2) -1/2,-2

(3) 1/2,2 4) —-1/2,2

If n is any natural number, then 6" — 5" always
ends with

1 1 2 3 3) 5 4 7

In figure AABC , £B =90° BD L AC, if AB =
10 cm. BC =20 cm. find BD :
A

B C
(1) 2V3 @) 43

3) 3V5 4) 85

If o, B are the zeros of p(x) = 4x* + 3x + 7 then
1 n 1
a B
7 7

Mz @ -3

3
3 3 @ -3

6 3

137.

138.

139.

140.

141.

142.

143.

Ifg THIRTOT 2x — 3y = 3 @AT —4x +qy = gsﬁr

1 B TET 8, I I o O HAET p FI A TR -

() 24 (2) -18 (3) -12 (4 =36
feEme wefieor x2 + 7(3 + 2k) — 2x (1 + 3k) = 0
& T T OHH €, 7 k FTHM € -

(1) 2,7

3) 2,—% (4) THEHE TR
2l HEHAWTST H@ATAT (WHT x TAT y) T AIH
gHYeIde (LCM) 8-

1) x+y

2) 7,5

(2) x-y

3 4 =

(3) xy 4) y

afe p (x) = 2x% + 3x — 2, T p(x) F AT -
(1) 1/2,-2 (2) -1/2,-2

(3) 1/2,2 4) —1/2,2

G 'n' Ueh TTehfreh TEAT &, T 6" — 5" T 3HTS I
3% BT -

() 1 2) 3 3) 5 4) 7

femr 4, Bryst ABC W, 2B = 90° BD L AC, a2
AB =10 cm. BC = 20 ¢cm. 95 BD J1d hifsu-
A

B C
(1) 2V3 @) 43

3) 3V5 4) 85

A 0, f TGS p(x) = 4x> + 3x + 7 FH [A R, T
L1
a B

7 7

Mz @ -z

3 3
3 7 O35 @ -3
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144.

145.

146.

147.

148.

149.

150.

In the adjoining figure, PQ || BC and AP : PB =

1:2. Then w =
area(AABC)
A
Q P
C B
1 1 1 1
&) 7 2 5 3) 3 4 )

When a polynomial 2x° + 5x? — 2x — 6 is divided
by a polynomial x + 1 then the remainder will be:

1 -1 2 1

3) 2 (4) None of these

If 2 sino+ 3 cos o =2, then 3 sin a0 — 2cos o =
(1) +3 3) 0

If 173x + 197y = 149 and 197x + 173y = 221,
then find (x, y).

@) 1 4) +2

(1 (3,-2) (2) 2,1
(3) (1,-2) 4 @, -1
tan 30 — 1 _

tan 6 — 1

(1) sec’0+tan 0 (2) sec’® —tan 0

3) 0 (4) tan® — sec’

If the polynomial 3x” — x* — 3x + 5 is divided
by another polynomial x — 1 — x°, the remainder

comes out to be 3, then quotient polynomial is

() 2—-x 2) 2x-1

(3) 3x+4 4) x-2

Mahesh has some cows and some hens in his
shed. The total number of legs is 92 and the
total number of heads is 29. Find the number of

cows in his shed.

M 12 2 14 @G)17 @) 19

144.

145.

146.

147.

148.

149.

150.

f@ T e 4, PQ | BCAAT AP : PB=1:2.dd

area(AAPQ)
area(AABC)
A
Q P
C B

1 1 1 1
(1) i (2) 5 (3) 3 4) )
gfe EERE 2x3+5x2—2x—6 H x + 1 ¥
forvfSra fopa sirar 8, o« e 2-
(1 -1 2) 1
3) 2 (4) STH Y IS T

Ife 2 sino+ 3 cos o= 2,d8 3 sin o — 2cos o =
(1) +£3 3) 0

Il 173x + 197y = 149 QAT 197x + 173y = 221,
qs (x, y) 4 Al -

@) £l 4) 2

(1) (3.-2) 2 20D
() (1,-2) @ @ -1
tan 30 — 1 _

tan6 — 1

(1) sec’0+tan 0 (2) sec’0—tan

3) 0 (4) tan® — sec’0

afe 998 3x% — x* — 3x + 5 %l T 3 FIgIE X —
1 — x> ¥ fowfSa fomam STar ®, a9 99%ar 3 918
BT 8, a9 WIThS © -

(1) 2—-x 2) 2x-1

(3) 3x+4 4) x-2

TR % U S T a0 FB T o) A F W/
I T 92 T Fit ol Y wEAT 29 B, a9 Ih
T T <hT HEAT T ehifSTu-

(M 12 2 14 @G)17 @) 19
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ANSWER KEY

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

1 2 1 3 3 3 4 4 4 2 3 3 1 1 3 1 2 4 1 3

21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40

4 4 4 4 3 3 2 2 1 4 4 1 2 3 2 2 4 2 4 3

41 42 43 44 45 46 47 48 49 50 51 52 53 54 55 56 57 58 59 60

1 4 3 1 2 2 2 3 1 2 3 2 2 3 2 4 2 4 2 4

61 62 63 64 65 66 67 68 69 70 71 72 73 74 75 76 77 78 79 80

2 2 1 2 3 3 3 3 3 3 2 2 3 2 2 1 3 4 3 4

81 82 | 83 84 | 85 | 86 87 88 89 90 91 92 93 94 95 96 97 98 99 | 100

3 3 2 1 2 3 1 2 4 3 2 1 3 2 3 1 1 3 1 1

101 | 102 | 103 | 104 | 105 | 106 | 107 | 108 | 109 [ 110 | 111 | 112 | 113 [ 114 | 115 | 116 | 117 [ 118 [ 119 | 120

2 4 2 3 2 3 1 3 2 3 1 4 3 2 2 1 1 3 1 1

121 | 122 | 123 | 124 | 125 | 126 | 127 | 128 | 129 | 130 | 131 | 132 | 133 | 134 | 135 | 136 | 137 | 138 | 139 | 140

141 | 142 | 143 | 144 | 145 | 146 | 147 | 148 | 149 [ 150
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